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:

if (kill(pid, SIGUSR1) < 0) {
perror(“kill”);
exit(1);

}



:

void sighandler(int signum)
{

got_sigusr1 = 1;
}

if (signal(SIGUSR1, sighandler) < 0) {
perror(“could not establish SIGUSR1 handler”);
exit(1);

}
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:

void sighandler(int signum)
{

got_sigusr1 = 1;
}
. . . 
got_sigusr = 0;
while (!got_sigusr1)

pause(); /* Αναμονή έως ότου ληφθεί κάποιο σήμα */
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:

struct sigaction sa;
sigset_t sigset;

sa.sa_handler = sigchld_handler;
sa.sa_flags = SA_RESTART;
sigemptyset(&sigset);
sa.sa_mask = sigset;
if (sigaction(SIGCHLD, &sa, NULL) < 0) {

perror("sigaction");
exit(1);

}
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void sigchld_handler(int signum)
{

for (;;) {
p = waitpid(-1, &status, WUNTRACED | WNOHANG);
if (p < 0) {

perror("waitpid");
exit(1);

}
if (p == 0)

break;
explain_wait_status(p, status);

if (WIFEXITED(status) || WIFSIGNALED(status))
/* A child has died */

if (WIFSTOPPED(status))
/* A child has stopped due to SIGSTOP/SIGTSTP, etc */

}
}
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$ ln -s prog prog1
$ ln -s prog prog2
$ ls -l prog*
-rwxr-xr-x 1 oslabg01 oslab 9177 2014-12-08 23:22 prog*
lrwxrwxrwx 1 oslabg01 oslab 4 2014-12-08 23:22 prog1 -> prog*
lrwxrwxrwx 1 oslabg01 oslab 4 2014-12-08 23:22 prog2 -> prog*
...
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